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1. Fill in the blanks of any Seven of the following :

(i) According to valence bond theory, K (Fe(CN),]

is an (inner/outer orbital) coupler.

(ii) The main pollutant responsible fot green-house
effect is

(ifi} In qualitative analysis, sodium nitroprusside is

used to detect ion.

(iv) Solubility of iodine in liquid SO, is increased by
an addition of Kl. This is attributed to the

formation of

(v) The complex [Cr(NHS);][Co(CN)G] exhibits
isomerism.
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(vi) The geometry of XeF, is

(vid)

is an example of a fertiliser.containing
both nitrogen and calcium.

isomerism.

(viii) The Pt(Il) complexes show

(ix) Manganate ions on oxidation -with Cl, form

(x) A chelating ligand on coordination with central
metal ion/atom results in formation.

(Ix7)

2. (a) Write the names of following complexes according
- to TUPAC system:

(i) [Cr(H,0),CL]C!
(i) Na,[Ag(5,0,),]

AN
(iii) [(en)2 C_O Co (en)z] (NO3)3
Non”

(iv) K, [Fe(CN),]- (3)
(b) Write the formula of the following complexes :

(i) Tetraammine platinum(ll) tetrachloro
- platinate(1I) '

(ii) Potassium trioxalatb chromate (I11)
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(iii) Pentaammine nitrito cobalt(Ill) sulphate

(iv) Tetracarbonyl nickel (0) (3

3. (a) What happens when ? (Give chemical equations)
(i) Sodium cobaltinitrite reacts with KClI.

(ii) KMnO, reacts with oxalic acid in acidic
medium.

(iif) Nacl is heated with K,Cr,0, and Conc.H,SO0,.

(iv) K1 is treated with alkaline KMnO, solution.

' (1x4)

(b) Explain why transition elements show variable
valency ? (1)

(c¢) How is the fertiliser calcium cyanamide
manufactured ? )

4. (a) Account for the'following statements ?

(i) Transition elements form a large number of

complexes. .

(i1} An équeous solution of CuSQ, is colored but
ZnS0, is colorless.

(iii) Transition clements act as good catalysts.

(iv) Acetamide behaves as a weak base in
aqueous medium but shows acidic properties
in liquid ammonia. (1x4)

P.T.O.
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(b) What is the root cause of acid rain ? Highlight its
consequences ? (2)

5. {a) On the basis of valence bond theory, find out the
number of unpaired electrons in [FeF,}* and
[Fe(CN),I*-. (1x2)

(b) How is XeF, prepared ? How does it réact
with (i) H,0 (ii) NaF. 2)

(c) How is potassium ferricyanide prepared from
potassium ferrocyanide ? Give its reaction with
FeSO, solution. (2)

6. (a) Write self ionisation equation for liquid SO,.
~ Indicate the reaction of

(iy SOCI, and (NH,),80, in liquid SO,
(ii) PCl; and SO, in liqu SO, ' (1x3)

(b) Draw the various stereoisomers for the complex
{Co(en),CL]*. (2)

(¢) Explain what is photochemical smog ? . ()

(200)****



